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1. 
24 x  

Ans. 
2 2 2Let I 4 x dx (2) (x) dx      

 

2
2 2 2 2 1x a x

It is known that, a x dx a x sin C
2 2 a

      

 
2 1x 4 x

I 4 x sin C
2 2 2

      

 
2 1x x

4 x 2sin C
2 2

     

2. 
21 4x  

Ans. 
2 2 2Let I 1 4x dx (1) (2x) dx     

 Let 2x t 2dx dt    

 
2 21

I (1) (t) dt
2

    

 

2
2 2 2 2 1x a x

It is known that a x dx a x sin C
2 2 a

      

 
2 11 t 1

I 1 t sin t C
2 2 2

 
     

 
 

 
2 1t 1

1 t sin t C
4 4

     

 
2 12x 1

1 4x sin 2x C
4 4

     

 
2 1x 1

1 4x sin 2x C
2 4

     

3. 
2x 4x 6   

Ans. 
2Let I x 4x 6 dx    

 
2x 4x 4 2 dx     

Integrals  
Exercise - 7.7 
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  2x 4x 4 2 dx     

    
22

x 2 2 dx    

 

2
2 2 2 2 2 2x a

It is known that, x a dx x a log x x a C
2 2

        

 
2 2(x 2) 2

I x 4x 6 log (x 2) x 4x 6 C
2 2


           

 
2 2(x 2)

x 4x 6 log (x 2) x 4x 6 C
2


          

4. 
2x 4x 1   

Ans. 
2Let I x 4x 1 dx   ’ 

  x 4x 4 3 dx     

    
22

x 2 3 dx    

 

2
2 2 2 2 2 2x a

It is known that, x a dx x a log x x a C
2 2

        

 
 

 2 2x 2 3
I x 4x 1 log x 2 x 4x 1

2 2


          

5. 
21 4x x   

Ans. 
2Let I 1 4x x dx    

  21 x 4x 4 4 dx      

 
21 4 (x 2) dx     

    
2 2

5 x 2 dx    

 

2
2 2 2 2 1x a x

It is known that, a x dx a x sin C
2 2 a

      

 
2 1(x 2) 5 x 2

I 1 4x x sin C
2 2 5

  
      

 
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6. 
2x 4x 5   

Ans. 
2Let I x 4x 5 dx    

 2x 4x 4 9 dx     

2 2(x 2) (3)    

2 2(x 2) (3) dx    

2
2 2 2 2 2 2x a

It is known that, x a dx x a log x x a C
2 2

      

 
 

 2 2x 2 9
I x 4x 5 log x 2 x 4x 5 C

2 2


           

7. 
21 3x x   

Ans. 
2Let I 1 3x x dx    

 
2 9 9

1 x 3x dx
4 4

 
     

 
  

 

2
9 3

1 1 x
4 2

   
       

   
  

 

2 2
13 3

x dx
2 2

   
     

  
  

 

2
2 2 2 2 1x a x

It is known that, a x a x sin C
2 2 a

      

 
2 1

3 3
x x

132 2I 1 3x x sin C
2 4 2 13

2



 
  

      
  

 
 

 

 
2 12x 3 13 2x 3

1 3x x sin C
4 8 13

  
     

 
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8. 
2x 3x  

Ans. 
2Let I x 3x   

 
2 9 9

x 3x dx
4 4

     

 

2 2
3 3

x dx
2 2

   
     

   
  

 

2
2 2 2 2 2 2x a

It is known that, x a dx x a log x x a C
2 2

        

 
2 2

3 9x
32 4I x 3x log x x 3x C

2 2 2

 
 

          
 

 

 
  2 22x 3 9 3

x 3x log x x 3x C
2 8 2

  
       

 
 

9. 

2x
1

9
  

Ans.  
2

22 2x 1 1
Let I 1 dx 9 x dx 3 x dx

9 3 3
         

 

2
2 2 2 2 2 2x a

It is known that, x a dx x a log x x a C
2 2

        

 
2 21 x 9

I x 9 log x x 9 C
3 2 2

 
       

 
 

 
2 2x 3

x 9 log x x 9 C
6 2

       

10. 
21 x dx  

Ans. 

2
2 2 2 2 2 2x a

It is known that, a x dx a x log x x a C
2 2

        

 
2 2 2x 1

1 x dx 1 x log x 1 x C
2 2

         
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11. 
2x 8x 7 dx   

Ans. 
2Let I x 8x 7 dx    

  2x 8x 16 9 dx     

    
2 2

x 4 3 dx    

 

2
2 2 2 2 2 2x a

It is known that, x a dx x a log x x a C
2 2

        

  2 2(x 4) 9
I x 8x 7 log x 4 x 8x 7 C

2 2


           


